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(Al -90,000)
O L& 4% HAAY
27 508,110,0008 X 1A41-DI% 298,110,0008 X 141 = 300000
(£ 90,000)
(Al 210,000)
O L5 M4CR YMAL(SEERDLS)
200,000,002 X 244 = 400,000




2t (200) 22X K= & (230)RENAMFS M&: (234)2&F2 (& &)
]—P g 0;||}\|-0H jPéI |:||I]L53I- Ab = jl =
2.8 M B = - Off &F o = & = =
1,500m X 200,000& = 300,000
O 240 S2121(¢48) =52 MAHSA
1,500m X 100,000& = 150,000
O &z HL2ZE 2228 BASEXIZINES)
400,000,000& X 1JH2 = 400,000
O XNgalas TSAFH|(HM)ALS
AA 198,560,000& X 1&-J|& 148,920,000& X 1A = 49,640
== 15,000)
(Al 34,640)
90,000 90,000 401-02 (Zeldl)
S2H SE ALT EHEY(=5,CH0HEA) (AMEHIHAM 2282 HA)
90,000,000& X 14 90,000
71,853 360(401-03 (A& S CHHI)
O Xgatas S22 Y| (HM)AIY
A& 1,440,000& X 14 - J|& 1,080,000& X 14 360




2k (200) At & & X = gt (230) R E AHAHE S NIt (234) 252 chel &3
o = (] AkOH s Hopnz=2 Ab = | =
2.8 N g = - Ofl &b o4 =° = = =
(Al 360)
290
JIBt =" E 294 0 294
291
HdRELFEe 294 0 294
751
gtet= 294 0 294
223 0 223 751-01 (2B X328tae3)
O 20158 MASZE sSU =2 HEAY B3
-2 3 220,000& X 14 220
- 0o & 2,920& X 14 3
71 0 71| 751-02 (Al.SHIEXZEHES)
O 20159 MASZE sUgs2 HEAY Bte=
-2 2 70,0002 X 14 70
- 0l At 930& X 14| 1
800
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